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Note : This paper is of sixty (60) marks containing three 

(03) sections A, B and C. Learners are required to 

attempt the questions contained in these sections 

according to the detailed instructions given therein. 

uksV % ;g iz’u i= lkB ¼60½ vadksa dk gS tks rhu ¼03½ [k.Mksa 

^d*] ^[k* rFkk ^x* esa foHkkftr gSA f’k{kkfFkZ;ksa dks bu 

[k.Mksa esa fn, x, foLr`r funsZ’kksa ds vuqlkj gh iz’uksa ds 

mŸkj nsus gSaA 

Section–A / [k.M&d 

(Long Answer Type Questions) / ¼nh?kZ mŸkjh; iz’u½ 

Note : Section „A‟ contains four (04) long answer type 

questions of fifteen (15) marks each. Learners are 

required to answer two (02) questions only. 

uksV % [k.M ^d* esa pkj ¼04½ nh?kZ mŸkjh; iz’u fn;s x;s gSaA 

izR;sd iz’u ds fy, iUnzg ¼15½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy nks ¼02½ iz’uksa ds mŸkj nsus 

gSaA 
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1. What do you mean by Labour Market ? Discuss its 

characteristics in the reference to Indian Labour 

Market. 

Je cktkj ls vki D;k le>rs gSa \ Hkkjrh; Je cktkj ds 

lUnHkZ esa bldh fo’ks”krkvksa dk o.kZu dhft,A 

2. Discuss the modern theory of Wages. What is the role 

of collective bargaining in wage determination ? 

etnwjh ds vk/kqfud fl)kUr dh O;k[;k dhft,A etnwjh 

fu/kkZj.k esa lkewfgd lkSnsckth dh D;k Hkwfedk gS \ 

3. Discuss the importance and value of conciliation and 

arbitration in the settlement of Industrial Disputes. 

vkS|ksfxd la?k”kks± ds fucVkjs ds fy;s le>kSrk o iapfu.kZ; ds 

egŸo dh foospuk dhft,A 

4. Discuss the government‟s efforts for elimination of 

child labour in India. Give suggestions for its 

elimination. 

Hkkjr esa cky Je ds mUewyu gsrq ljdkj }kjk fd;s x;s 

iz;klksa dk o.kZu dhft,A cky Je mUewyu gsrq lq>ko 

nhft,A 

Section–B / [k.M&[k 

(Short Answer Type Questions) / ¼y?kq mŸkjh; iz’u½ 

Note : Section „B‟ contains eight (08) short answer type 

questions of five (05) marks each. Learners are 

required to answer four (04) questions only.  
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uksV % [k.M ^[k* esa vkB ¼08½ y?kq mŸkjh; iz’u fn;s x;s gaSA 

izR;sd iz’u ds fy, ik¡p ¼05½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy pkj ¼04½ iz’uksa ds mŸkj nsus 

gSaA  

1. Explain manpower planning. 

tu’kfDr fu;kstu dks le>kb;sA 

2. Discuss the role of employment exchange in the 

elimination of unemployment. 

csjkstxkjh fuokj.k esa jkstxkj dk;kZy;ksa dh Hkwfedk dk 

foospu dhft,A 

3. Explain the needs of wage policy in India. 

Hkkjr esa etnwjh uhfr dh vko’;drk dks crkb;sA 

4. What are the reasons behind the critical conditions of 

agricultural labourer in India ? Explain. 

Hkkjrs esa d`f”k Jfedksa dh n;uh; fLFkfr ds ihNs dkSu&ls 

dkj.k gS \ le>kb;sA 

5. Write a short note on trade union movement in India. 

Hkkjr esa Je la?k vkUnksyu ij ,d laf{kIr fVIi.kh fyf[k;sA 

6. Describe the determinant factors of Labour Supply. 

Je iwfrZ ds fu/kkZj.k rRoksa dh foospuk dhft,A 

7. Characteristics of a labour market in a Developing 

Country. 

fodkl’khy ns’k ds Je cktkj dh fo’ks”krk,¡A 
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8. Discuss the housing problem of industrial workers in 

India. 

Hkkjr esa vkS|ksfxd Jfedksa dh vkoklh; leL;k dh foospuk 

dhft,A 

Section–C / [k.M&x 

(Objective Type Questions) / ¼oLrqfu”B iz’u½ 

Note : Section „C‟ contains ten (10) objective type 

questions of one (01) mark each. All the questions 

of this section are compulsory. 

uksV % [k.M ^x* esa nl ¼10½ oLrqfu”B iz’u fn;s x;s gSaA izR;sd 

iz’u ds fy,  ,d ¼01½ vad fu/kkZfjr gSA bl [k.M ds 

lHkh iz’u vfuok;Z gSaA 

Indicate correct answer-option in the following : 

fuEufyf[kr iz’uksa esa lgh mŸkj&fodYi p;fur dhft, % 

1. Labour in economics means : 

(a) All human efforts of body which is undertaken in 

the expectation of reward.  

(b) All human efforts of mind which is undertaken in 

expectation of reward.  

(c) Both (a) and (b) 

(d) None of the above 

vFkZ’kkL= esa Je dk vFkZ gS % 

¼v½ euq”; }kjk fd;s x;s leLr ‘kkjhfjd dk;Z tks iqjLdkj 

izkfIr dh vk’kk ls fd;s tkrs gSaA 
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¼c½ euq”; }kjk fd;s x;s leLr ekufld dk;Z tks iqjLdkj 

izkfIr dh vk’kk ls fd;s tkrs gSaA 

¼l½ ¼v½ rFkk ¼c½ nksuksa 

¼n½ mi;qZDr esa ls dksbZ ugha 

2. The proportion of labour in GNP becomes low, due to 

the following reasons : 

(a) Wage lag behind prices 

(b) Prices lag behind wages 

(c) Profit lag behind prices 

(d) Prices lag behind profit 

fuEufyf[kr dkj.k ls ldy jk”Vªh; mRikn ¼th- ,u- ih-½ esa 

Je dk fgLlk de gksrk gS % 

¼v½ etnwfj;ksa dk dherksa ls ihNs jg tkuk 

¼c½ dherksa dk etnwfj;ksa ls ihNs jg tkuk 

¼l½ ykHk dk dherksa ls ihNs jg tkuk 

¼n½ dherksa dk ykHk ls ihNs jg tkuk 

3. Under the condition of perfect competition : 

(a) MW > AW 

(b) MW = AW 

(c) MW < AW 

(d) None of these 

iw.kZ izfr;ksfxrk dh n’kk esa % 

¼v½ MW > AW 



 [ 6 ] MAEC–07 

A-64 

¼c½ MW = AW 

¼l½ MW < AW 

¼n½ buesa ls dksbZ ugha 

4. Head quarters of I. L. O. is at : 

(a) Washington 

(b) Hauge 

(c) Manila 

(d) Geneva 

vkbZ- ,y- vks- dk eq[;ky; gS % 

¼v½ okf’kaxVu esa 

¼c½ gsx esa 

¼l½ euhyk esa 

¼n½ tsusok esa 

5. Which sector has the maximum quantum of disguised 

unemployment in India ? 

(a) Transport (b) Agriculture 

(c) Industry (d) Trade 

Hkkjr esa fdl {ks= esa vn`’; csjkstxkjh dk ifjek.k lcls 

vf/kd gS \ 

¼v½ ifjogu ¼c½ d`f”k 

¼l½ m|ksx  ¼n½ O;kikj 
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6. The maximum labour oriented industry in India is : 

(a) Cement Industry 

(b) Iron and Steel Industry 

(c) Jute Industry 

(d) Cotton Industry 

Hkkjr esa lcls vf/kd Je iz/kku m|ksx gS % 

¼v½ lhesUV m|ksx 

¼c½ ykSg ,oa bLikr m|ksx 

¼l½ twV m|ksx 

¼n½ lwrh&oL= m|ksx 

7. What is the minimum permissible age for employment 

in any factory or mine ?   

(a) 12 years (b) 14 years 

(c) 16 years (d) 18 years 

fdlh Hkh dkj[kkus ;k [kku esa jkstxkj izkIr djus dh 

vuqeksfnr vk;q D;k gS \ 

¼v½ 12 o”kZ ¼c½ 14 o”kZ 

¼l½ 16 o”kZ ¼n½ 18 o”kZ 

8. Payment of Bonus Act was passed in : 

(a) 1965 (b) 1970 

(c) 1975 (d) 1980 

cksul Hkqxrku vf/kfu;e ikfjr gqvk % 

¼v½ 1965 ¼c½ 1970 

¼l½ 1975 ¼n½ 1980 
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9. The craftsman training scheme was introduced in : 

(a) 1950 (b) 1952 

(c) 1954 (d) 1956 

nLrdkjh izf’k{k.k ;kstuk izkjEHk gqbZ % 

¼v½ 1950 esa ¼c½ 1952 esa 

¼l½ 1954 esa ¼n½ 1956 esa 

10. Social Security Act, 2008 was passed for : 

(a) Organized labour 

(b) Unorganized labour 

(c) Both (a) and (b) 

(d) None of these 

lkekftd lqj{kk vf/kfu;e] 2008 ikfjr gqvk % 

¼v½ laxfBr Je ds fy;s 

¼c½ vlaxfBr Je ds fy;s 

¼l½ bu nksuksa ds fy;s 

¼n½ buesa fdlh ds fy, ugha 
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